AQA GCSE French

Technology in everyday life

Grammaire 2.1 H Avantages et inconvénients des réseaux sociaux

The present tense of regular -ir and -re verbs

The endings of the present tense of regular -ir verbs are: -is, -is, -it, -issons, -issez, -issent.
lIs remplissent des formulaires. They fill in forms.

The endings of the present tense of -re verbs are: -s, -s, -, -ons, -ez, -ent.

Il perd souvent ses devoirs.

He often loses his homework.

1 Complete each sentence with the right verb from the box, in its correct present tense form.
1 s a la situation.
2 Mon frere un message d’'un ami.
3 Elle son vélo pour avoir de I'argent pour acheter une tablette.
4 On ses amis quand on ne communigque pas assez souvent.
5 ce que vous voulez!
choisir perdre attendre réfléchir vendre
2 Re-order the words and add the correct form of the -ir or -re verb in brackets, so that each sentence

makes sense.

1 Laon grace a nos publicité bien produits. [connaitre]

2 Nous produits sur nos Internet. [vendre]

3 Elle ne gagne qu’ jamais elle toujours. [dire]

4 Je mes avec amis soin. [choisir]

5 Nous a cours heures les trois. [finir]
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3 Translate these sentences into French.

1 We guarantee our products for a year.

2 Choose your virtual friends well.

3 My mother switches on her mobile only once a day.

4 They are thinking about it.

5 Wait for me!
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